m Lesson b ooy

The area of a polygon is the amount of surface it covers. You can find the area of
a parallelogram in much the same way as you can find the area of a rectangle.

Area of a Parallelogram

m T > Words The area A 'of a parallelogram is the h

parallelogram does product of its base b and its height h.

not have to be Algebra A = bh b

horizontal. Any side of

a parallelogram can be Because a rhombus is a parallelogram, you can use the same formula
L the base. J to find the area of a rhombus.

Example 1 Finding Areas of Parallelograms

Find the area of each parallelogram.
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Area is measured in
square units.

P The area of the parallelogram

p Thearea of the rhombus
‘ is 34 square feet.

is 224 square meters.
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TrY It  Findthearea of the parallelogram.
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Example 2 Finding Missing Dimensio

Nﬂn CONSTRUCT Aﬂ G

am.
Find the missing dimension of each parallelogr

ns of Parallelograms
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ARGUMENT s 1 ke
Why can you be certain il g <\
that the figure in part (b) ’
is a rhombus, but not the
figure in part (a)?
I."/)
Area = 30 cin?
A= bh Write formula. A = bh
5= b(2) Substitute values. 30 =7.5h
5 _ b2) Division Property 30 _ 7.5k
9 S of Equality Tibi ik
2% =b Simplify. 4=h
L J » Thebaseof the i »  The height of the rhombus
parallelogram is 25 feet. is 4 centimeters.
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4. Find the missing dimension of the parallelogram. 5
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In-Class Practice

5. WRITING Explain how to use the area of 3 rectangle tq find
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FINDING AREA Find the area of the parallelogram.
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8. REASONING Draw a parallelogram that has a base of 6 inches and an area of
24 square inches. What is the height of the parallelogram?
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Example 3 Modeling Real Life U 3

The area of the parallelogram-shaped forest bordered by roads is
99,000 square yards. What is the length of the deer trail?

i llelogram-shaped forest, and
You are given the area of a para {
\‘("‘:‘::rrogbtlz':: the map shows the length of one of its bases. You are asked

to find the length of the deer trail, which represents the height
of the parallelogram.

E 660
Use the formula for the area of a parallelogram. Substitute for L
e d then solve for the height. :
the area and the base, an
" A= bh Write formula for area of a parallelogram.
: itute 99,000 for A and 660 for b.
{ 3:&7;'.'“ | 99,000 = 6607 Substitute
99,000 _ 6501 Division Property of Equality
660 660
150 = h Simplify.
Check
P So, the deer trail is 150 yards long. o

2
99,000 = 660(150)
99,000 = 99,000 v
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Concepts, Skills, & Problem Solving

USING TOOLS Rearrange the parallelogram as a rectangle. Then find the area. (See Exploration 1)
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FINDING AREA Find the area of the parallelogram. (See Example 1.)

8. 6 ft » 9.
6 ft
3ft
> ; : 6ft 42 mm
6 ft ;
20 mm

11. 12.

[ ] 50 cm ;

18 in. 191in.

13.5in.
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